Basic Algebra: Graphing Linear Equations

Questions

1. Sketch y = —2x + 1. Find the value of y when =0, x = =2, and x = 1.
2. Sketch y = 2z — 5. Find the value of y when z =0, x = 2, and x = 4.

3. Sketch y = 3z + 2. Find the value of y when x = —1, x =0, and z = 1.
4. Sketch 4x + 3y = 12.

5. Sketch 3z + 2y = 6.

6. Sketch y =6 — 2z.

7. Sketch x — 6 = 2y.

8. Sketch y — 2 = 3y.

9. Sketch 2z + 9 = 5z.

10. Sketch 2z + 5y — 2 = —12.
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Solutions
= ~Ax+]
1y= 2241 £ NY
When z = 0=y = —2(0) + 1 =1, so the ordered pair is (0,1). (-2,5) (o A
When x = -2 = y = —2(—2) + 1 = 5, so the ordered pair is (-2, 5).
When ¢ =1=y=-2(1) +1 = —1, so the ordered pair is (1, —1). (i _,')> X
i
2. y=2x—5
When =0 =y =2(0) — 5= —5, so the ordered pair is (0, —5).
When =2 = y =2(2) — 5= —1, so the ordered pair is (

2,—1).
When . =4 = y =2(4) — 5 = 3, so the ordered pair is (4, 3).

3. y=3x+2 1

(1,5
When . = -1 =y =3(—1) + 2 = —1, so the ordered pair is (-1, —1). //(’ )
(©,2)

When z =0 =y = 3(0) + 2 = 2, so the ordered pair is (0, 2).
When  =1=y=3(1) + 2 =5, so the ordered pair is (1, 5).

(")ﬂ)

4. 4z 4+ 3y =12

When 2 =0 = 4(0) + 3y = 12 = y = 4 so the ordered pair is (0,4).
When y =0 = 4z 4 3(0) = 12 = = = 3 so the ordered pair is (3,0).
When =1 = 4(1) + 3y = 12 = y = 8/3 so the ordered pair is (1,8/3).

Instructor: Barry McQuarrie Page 2 of 4



Basic Algebra: Graphing Linear Equations

5.3z +2y==6

When x =0 = 3(0) + 2y = 6 = y = 3 so the ordered pair is (0, 3).
When y =0 = 3z 4 2(0) = 6 = = = 2 so the ordered pair is (2,0).
When z =1 = 3(1) + 2y = 6 = y = 3/2 so the ordered pair is (1,3/2).

6. y=6—2z

When 2 =0 =y =6—2(0) = y = 6 so the ordered pair is (0,6).
When y = 0= (0) = 6 — 22 = = = 3 so the ordered pair is (3,0).
When 2 =1=y=6-2(1) = y =4 so the ordered pair is (1,4).

7.2 —6=2y e )(—(:97‘2%
=
When . =0= (0) — 6 =2y = y = —3 so the ordered pair is (0, —3).
When y =0= 2z — 6 =2(0) = 2 = 6 so the ordered pair is (6,0). . A
When 2 =8 = (8) —6 =2y = y = 1 so the ordered pair is (8,1). 3( &,0) X
(0,73

8. y — 2 = 3y. There is no = in the equation. Sim-
plification shows this is a horizontal line, y = —1.

l >¢j—_-\

I\
1
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9. 2¢ +9 = bHz. There is no y in the equation.
Simplification shows this is a vertical line, z = 3. —> X

10. 2z 4+ 5y —2=—-12=2x + by = —10

When z = 0 = 2(0) + 5y = —10 = y = —2 so the ordered pair is (0, —2).
When y = 0 = 2z + 5(0) = —10 = 2 = —5 so the ordered pair is (—5,0).
When z =5 = 2(5) + by = —10 = y = —4 so the ordered pair is (5, —4).
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